Math 1030, Homework Activity #12, Summer 2014 Name ?é‘g\r

Sections 6.4

Instructions: Complete the following problems. You may work alone or in a group. Do not just copy
answers from a group member, but be sure that ou understand the problem. Similar questions will
appear on exams. You may be asked to explain or present the answers to the class. This assignment is

due at the end of the class period.

Use the following formulas to factor the expressi(Lns below completely. Label A and B for each formula

used.
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